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Waagerecht

1

11

13

K=12000,p=6
%,t=11Tage. Z=
?7(14)

K=12000,p=6
%, t=40 Tage. Z =
2(N
Z=500,p=5%,t
=1Jahr, K=7(11)

K = 12000, p = 6
%, t=3.5.-7.6. Z=
2 (14)

K=12000,p=6
%,t=13 Tage. Z =
?7(15)
K=3000,t=2
Jahre, Z = 1140, p
=7(8)
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20

K=2800,p=06%,t
=5 Monate. Z =?
(7

K =24000,p=3
%, Z =540, t
(Monate) = (4)

K=12000,p=6
%, Z =2160, t
(Jahre) = (4)

K=12000,p=6
%, Z=13600, t
(Jahre) = (5)

K=12000,p=6
%, Z =12880, t
(Jahre) = (4)

K =24000,p=3
%, Z=420,1
(Monate) = (6)
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19

Senkrecht

1 Z=300,p=5%,t

=6 Monate , K=7?
(13)
K=12000,p=6
%, t=9Tage. Z=7?
3
K=800,p=6%,t
=7 Monate. Z="?
(14)
K=600,p=5%,t
=2 Jahre. Z=7(7)
K =24000,p=3
%, Z =34, t (Tage)
=(®)
K=12000,p=6
%, Z=1440,t
(Jahre) = (4)
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12

14

K=2800,p=06%,t
=4 Monate. Z =?
(3)
Z=500,p=5%,t
=2 Jahre, K =7
(12)
K=5000,p=3 %,
t=2 Jahre. Z=7?
(11)
K=2800,p=06%,t
=10 Monate. Z = ?
(7



